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Jc 3 aﬂ*mmAnswer Key ,

L 1®®O00 |26 |®O®OD® |5 | ®®OD| 7. | ®®O®

2 |®®OD |27 | @®OD |52 (A®O®| 7. | ®®O0®

3. | @O0 |25 [O®OD| 5 [(A®O®| 3. | A®O®

14 [®BOD |29 |®®OD| 54  ®®OD |1 | A®O®

5 1®®O00® [30. [ ®®OD® |5 [AB®OD|%. | A®OD

6 |@®OO |31 |®E®OD®|56 |A®OD |8 | ®O®O®

7. (O | 2. [A®OD| 57 | O®OD |8 | AB®OO
8 |®®OD® |3 [A®OD®| 8 |®®O®|8 |[A®O0D |
- |®®OD | M [OB®OD| M | A®OD | %4 | A®O®

0. [ AEOO |35 |[O®OD| 6. | A®OD |8 [(A®OO®

1. [ ®B®OD |36 |[O®OD]| 6.  ®EOD |3 .|A®O®

2. | ®®OD | 3. |B®O0| 62 | ®@@®OD |8 [A®O®

B |A®OO |38 |[(O®OD| 63 | A®OD|ss. [A®OO®

4. |®HB®OD | 39. | ®®OD | 64 |AOOD| 8. [A®OD

15 |@®OO | 0. |O®OD |65 | A®OD®| % [®®OO®

16. | @O [ 41. |[A@OD® |66 |[A®OD! 91. | ®®OD

17. |(®®OO |42 |O®OCD | 6. | ®®OD| %2 |®®O®

B 100 | B |O®O0D| % | A®O®|% |®d®OD®

L. |00 | 4 |[OBOD| 6. | O®OD®|% |A®OO®

20. | @BOO |45 [A®OO| 7. [®A®OD®|% | A®CD

2. | B®O@ [46. |B®OD| 7. | ®®OD| % |A®O® | -
2 |[ABOD |47. |(A®ODO| 2. ®®OD®| 9. |®®OD

2. |®@O0® |48 [(AEOO®| 3. |®®O®| 9% [®®OO®

U |O®00 |9 [O®OD| 4 |A®OD| % |A®O®

5. @O0 |50 | ®®OD®| 75 |®@®OD®|10.| ®®O©®
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et g i) Silmam SR we . 9 3R ¥ T S R :
Study the following table and answer the questions.

o0 w1 frenefieeer fvremer T WEREEE TReET WG Stwer mmma.
Classification of 100 Students Based on the Marks Obtamed by them in Physics and Chemistry in

an Exammatxon
) Marks out of 50
Subject ; - — .
40 and above | 30 and above | 20 and above | 10 and above | 0 and above
Physics 9 32 80 92 100
Chemistry 4 21 66 81 - 100
Average (Aggregate) 7 27 73 87 100

1 mwmmeﬁMImmmeﬁmmgﬁ

Trendie vem s ww s 2 :

What is the difference between the number of students passed with 30 as cut-off marks in

Chemistry and those passed with 30 as cut-off marks in aggregate? :

A 3 B. 4 ' C. 5 D. 6

mmmmmmm At =Had g0 wiwm % Tiew s W 5

qiaﬁaﬁmﬁmmmmmmmm? :

If at least 60% marks in Physics are required for pursuing higher studies in Physncs, how

many students will be eligible to pursue higher studies in Physics?

A 27 B. 32 C. 34. D. 41

mwaommmmammmﬁmmwmm

it fof g7 frenefi s wfma @ 2 -

The percentage of nu r of students getting at least 60% marks in Chemistry over those

gettmg at least 40 % marks in aggregate, is approximately? ;

- 21% - 21% s ¥ 0w €. 29% s D.
i mmm“ mmmmmw ?

The number of students scoring less than 40% marks in aggregate is?
“A. 13 : “B. 19 C.-.20 D. 27 .
I TARFIR! T WEIFT gt TR 3 mmmmﬁmm
T AT e T e = Srvi s 2
If it is known that at least 23 students were eligible for a Symposxum on Chemlstry, then the

minimum qualifying marks in Chemistry for eligibility to Symposium would lie in the range?
A 40-45 R 2040 - 90 20 ) TN Dalees AN

31%
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11.
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mmmmmwﬁz@q:

Replace the question mark in thé given question .

palette easel brush
textbook: lesson plan . 5
A. artist B. teacher .. C: report card D. paint

A, BRIGAE B, C RMRITIRA L CD AFMAT D ﬁAﬁna‘»mnﬁav :
If A is the brother of B; B is the sister of C; and C is the father of D, how D is related to A?

A. Brother B. Sister : C. Nephew" D.Cannot be determined
IR T G Qe WAL S AT TR i Wb o 2 ’
YN - B. ¥ R S T .
R q@mmmg@w ........... f‘aﬁmﬁaﬁtmm-ﬂé ........ = s

A. TIE, 959 ' B. Thael, 95639 C. TE, 959 . D. e, 959

mmmﬁmmmﬁs@mﬁm@mmwmmm
SRR

& gRITgeR @.ga‘.at ~ 1. TR

A - SEEEET, TR, T- TEIE B %- H@ATE, @—W - sﬁ@zﬁ{m '
C. F- e, T- GFYH, - SreeeE D. - YA, - TGS, T- TR
fafir smirr srges < Furern i g @i oies e e e e v fred e

TR :
 la. g i SN
b. HER STl ii. &=
c. TEH - 4 jii. Sor@
d. @ ' iv. TR
e _ N
a b.c-.d

i1 iv
v i i

AT FAFRT G Teverrenes T B A A.coee.. HT R B

A. AW T B. TSN, ¥§ C. e, %  D. 3, %R
T =fida saftraes T SHeEs! S ! SIS TahiTel §7 Tad S ?

A. TR ARER EHECNERICARE Gt

B. st eide - fimsrven

C. T®a% - Ui USSTgeh] HRGT

D. TrmEs - Tt gt g
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14. I U HAIGHR et S afeeein! SHaat qerTes g W6l o 2

A, T e UEH, Ak o UeE, Wbl U, THSHE Ueh, e il gesh

B. W% #ff Uaeh, U VAl U, HehTd UG, THISINET U, Tore Sl 9e e

D. W Ieeh, T e o, fren Sl uah, THS a1 US, b USH
Study the following passage and answer the ‘questions based on it. (15-19)
Soft bodied animals like caterpillars often fall a prey to voracious hunters like birds or reptiles. Despite
having no means to 'actively’ defend themselves, with weapons like claws ‘or jaws, they have nevertheless,
evolved other equally effective deterrents. A particular species of the caterpillar lives at an altitude over
2.500 metres in the Himalayas. It uses prominent colour to inform would be predators of its in edibility.
In the event that an inexperienced or adventurous bird did eat the caterpillar, it would probably vomit it -
soon after, and subsequently desist from attacking similar species in future. Though this would do the
unfortunate victim no good, the species benefits. A rare example of the martyr among animals.
15.  The expression "others equally effective deterrents' mean

A. preventive weapons which have equal effect of others

B. mechanism which scares everyone equally well -

C. preventive equipment which it is as effective as somethmg that has been already mentioned

- in the passage

D. deterrents that are as powerful as those the caterpillars have

16.. Experienced birds do not attack the Hlmalayan caterpillars because they are

A. repulsive B. veryaggressive - C. inedible ' D. diseased

17. The Himalayan caterpillar uses prominent colours to
. A. warn the predator, B. attack the predator

C.. reveal itself D. . defend itself
18.  Caterpillars cannot defend themselves because '

A. are passive animals B. arelazy

C. cannot acquire weapons ' D. have no claws or jaws
19. In the context of this passage, a martyr is one who dies e

A. without putting up resistance B. without any gain to oneself

C. while defending ones homeland i D. to save others

20. 0¥ HITEH! SASTRIAHH] SRAT FEER TR

w2 e s R R et oy
T A N FRITE T TIH W WY A R A He TS TRt e 1
T R0¥E S ¥ T S et oISl ATn] Wi Fepal ! Son e o |

A FUHIH B. $I@UEI® C. WINTHIF D. wWIF
21, g v b s, s, Seeh T weegt e iR i e 2
A fEE.RN B. fad. 994 c. fad. 90 D. fam. 'K -
22. wmmwmmmmmm@mmmmm
=H?

A W B. 9 C W D %
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SYTeTeR! R SeorE WU SRR AR e e R THeR |
F. AU iSR! R ¥ HY AR FHeIeTeh] e TR 51
W. T AIeH! 9Eq Afar Ja1 T AP S S d

A FIF@TW B, FTEEIF C. gAI® ' D. @
6  R00% 71 HA IR A 2 ‘ '

What was the day of the week on 28" May, 20062
A. Thursday B. Friday - C. Saturday D. Sunday

Wﬂﬁmamwmﬁmm@ﬁﬁmwoaﬂamwﬁmlmm

T G 90 iy A Srensar wi Saet ST T WS ?

Running at the same constant rate; 6 identical machines can produce a total of 270 bottles

per minute. At this rate, how many bottles could 10 such machines produce in 4 minutes?
A. 648 B. 1800 . C. 2700 D. 10800
W e E oS L Frion @& sm ae WA & e i feen den 2

How much does a watch lose per day, if its hands coincide every 64 minutes?

A 321—81‘minﬁ B. 361—51‘min. C.. 90 min. O Gonie. -
The value of (0.96)° - (0.1)° is:

(0.96)* + 0.096 + (0.1)*

A. 0386 B. 095 > .G oD 1406

TeTA! 95e%  fime! st ore wier frerder Reswemes 57 e 8 2

A A SR e AR YIS B. TSN - TSR

C. TVATEH- SR TeeTH I5E D, WTeSE - S A ARE AEH
Wei® fa=aelt SRS Theory of Scientific Management 7! G Higel Wehlivrd W 2

A WRY B RN - C RO D. FI’R0
T SRS GHR A, 0¥G H] GHITEe aoamiel A 8l / §1 2 :
. meaﬁﬂmﬁmﬁmmnﬁmmﬁ

@. Hieen aY dcrafernies! il Aed M A ™

. mm%ﬁammyf‘vﬁﬁmmﬁ

A FI@UEASS B, @ITWEEE C. HITAASGE D, RECiE

| wiff T ITETEE! FrRwETh! YR Ui qfseen! SHe §1 9E 8 ?

F TERdRE 0 @ THAE STl . R TR

A G-T-%, . B, @1 ; C. S-8E-7 D. T-@-%
Pick out the best one which can complete incomplete stem correctly and meaningfully
In order to raise company's profit, the employees ...... :

A. demanded two additional increments

B. decided to go on paid holidays

C. requested the. rhanagcment to implement new welfare schemes

D. offered to work overtime without any comi)ensation



33.

35.

. 36.

37.
38.

39.

* 40.

41.

a2.

43.

54

Pick out the best one which can complete incomplete stem correctly and. meamngfully

" The officer who had neglected to files his income tax returns had to ......

A. returnthefiles  B. payafine C. berewarded ' D. play mischief
Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete. o) _ - . :

The new education policy provides a useful ...... for the planners to remove illiteracy.

A. breakup .  B. breakthrough C. breakaway D. break-in

mzmmmmmmmmmmmm ’

" SISO GERER! ST SRga TREh! SR e = =) 2

A. Poverty Allqvnatxon‘Pohcy B. Agenda- 21

C. Win-Win Policy D. Aid Growth Policy

Hemovore ..........: mwﬁ | '@tmmm e,

A. TR §&F ARR e, famat B. TE®! AACNE T6T SERI SR, TrmEﬁ SR
C. B, IR0 TN WEs, SR qvel - D. e fa snfe @m woies, b

CITES 3 32 wried w8 QR 3 ? .

A SEMT - B. wfggzafesdi C =@= D. dusA

. R0%G ! MG SO TR g 5 S0 Yiraierd e T3ee! IRane! Jieed RS ?

A IBWN B. 339 CC 1’W D, R3¢
arﬁrara’mmmw Syofy Hﬂ‘lﬁaﬁl complete the followmg series ?

16, 33, 65, 131, 261, (....)

A. 523 B. 521 C. 613 D: 721 -.

TS T ORI R T QN S, ST Wit FET /L TR T < s g8 o 1 S st Yo whiw
T B IR TS T I T3 U 1Y TR Ws S S g8 sy et 2

A milk vendor has 2 cans of milk. The first contains 25% water and the rest milk. The
second contains 50% water. How much milk should he mix from each of the containers so as
to get 12 litres of milk such that the ratio of water to milkis 3 : 5?

A. 4 litres, 8 litres B. 6litres, 6 litres C. Slitres,7 littes . D. 7 litres, 5 litres

'@mwm@mﬂwﬁmmﬁmm IR 2

If one-third of one-fourth of a number is 15, then three-tenth of that number is:
A. 35 B. 36 C. 45 : D. 54

. AB,C FH AEE 40,000 TR W1 A & B awrmaﬁemn@wacwxooo

S ST IR, N ST AR 3K000 FaT W A @ Hie W el ?

A, B, C subscribe Rs. 50,000 for a business. A subscribes Rs. 4000 more than B and B Rs
5000 more than C. Out of a total profit of Rs. 35,000, A receives:

A.  Rs. 8400 B. Rs.11,900 - C. Rs. 13,600 D. Rs. 14,700
mmﬁﬁowaaﬁtm:mu%ﬁmzPhwﬁmmmgéﬁmmw‘

SR ? A batsman scored 110 runs which included 3 boundaries and 8 sixes. What percent of

his total score did he make by running between the wickets?

A. 45% " B. 45%%' C. 54%% D. 55% -
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47.

48.

49.
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memm Green Belt Movementmammégswm %

A, G 9R9¥ B. E19%9Y% C. Eq9%%% D. Eq9Rue
" Association .of International Research and Development, AIRCA T m Q. W GNED
FEIE?
. Crops for the future
9. ICIMOD
. International center for Biosaline Agriculture
¥. INBAR : :
P
A, FINTETE B, FHE@ITAEE C. ‘T'{HT{H'G%'T - D. iU

mﬁmmm@maﬂa/m?
A. maaacmgmewmmmmmma.
B: mmwmaﬁwmﬁammm%

. fad. 2030 T = = WWWWWW@WQ S 90 ARG
GO TR SRR @S TR T

D. wWfywIEd .
MWW@W? £ et
A. Body Building ) - B. aﬁwaﬁmnﬁa
C. uftweH BE GRS D. mﬁmlﬁ
Wmmwmmmmmu
TR : §EE .
' World TB Day . % 7% April.

World Mental Health Day - & 11" Oct

World Health Day 1. 24™ March

World Sight Day . © 10® Oct
A, 9-%, -9, 37, ¥-¥ B. 9-7, -9, 3-%, ¥-@
C. 9-T,3-Y,3-§, ¥-& D. 9-9,3-7,3-%,¥-8@
People who ...... on horses usually lose in the end.
A. gamble B. play . €. sk ; D. place

Pick out the most effective word from the glven words .to fill in the blank to make the
sentence meaningfully complete.

About twenty clerks were made ...... when the banks mtroduced computers.

~ A, dispensable B., redundant. C. expandable D. obsolete

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

After the rain the weather ...... ~and the sun came out.

‘A. cleared out B. cleared up C. cleared away D. cleared off




52. Wmﬂtﬁmmﬁmmﬁam

53.

54.-
55.

56.
57.

58.
© Yo Wi, Ko WiewTa T 9K Wi SXet Sersa 8w 4 fae! 19U S g 2
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TEF S
I FEH - 9. SIEE HR

) TWHA . Sfeufre

3 SRHR 3 s

%) T EHI ¥. REret

F o Fh § R

A ¥ 9 3 R

Bir 7R ¥

(GhE Bl Lt Rl dals
DL -R™Y ¥R

Rl tmllﬁamﬁm|

Rl ; ' TRl

9. Ambulation . To make the patient walk

R.  Quack @. A fake doctor

3. Anti pyratic _ 7. Drug that decrease fever

¥.  Anaesthetic " 9. Drug that make unconcious

A -, -T, -7, ¥-9 B. 9-%, 3-8, 3-, ¥-T

C. 9-8, 3-F, 37, ¥-¥. D. 9-9,3-%F, 3-7,¥-§ .
TETRTHES A 7 I QVE ?

A FRR © B.. A . C. e D. i wd
~"It's your world.' 3 G T Y ST B 2

A: fawas=s . B. UgRULET C. Fufgaieshd D. fova Sioem dmea

9 g R0 TR g febege i %ﬁmﬁmﬁmﬁmamxﬁmmw ?

Tickets numbered 1 to 20 are mixed up and then a ticket is drawn at random. What is the

probability that the ticket drawn has a number which is a muiltiple of 3 or 5?
1 ¥ 2 R 9
A. ) B. 5 C. 15 D. 20

maaxmmmammmms@mmmw ﬁ-%vgmwﬁs
S A I IeTehl T i e 2

A train 125 m long passes a man, running at 5 km/hr in the same direction in which the train
‘is going, in 10 seconds. The speed of the train is:

A.  45km/hr B. 50 km/hr C. 54 km/hr D. 55km/hr
1 Terereraen v, RO T TR FIEeE ¥:9:5 W STIYRE B | AR S DAL TR

Seats for Mathematics, Physics and Biology in a school are in the ratio 5 : 7 : 8. There is a
proposal to-increase these seats by 40%, 50% and 75% respectively. What will be the ratio of °
increased seats?

& a2 i sl L A C 7 678:9 D. None of these




59.

60.

61.

62.

63.
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66.

67.

68.

69.

o ¥. uﬁwmm'é vxommmmmt = ﬁ ?

o7

How much time will it take for. an amount of Rs 450 to yleld Rs 81 as mterwt‘ at 4. 5% per

annum of simplé interest? : : i 2y
A.. 3.5 years “B. A4years - C 45years’ D. 5years
mhmmwmmmmmﬂm
%. IBRD @ IFC .. MIGA ¥. IDA :
A . FT,T- B. -@-T-9 C. @9 D GFUT
mmﬁaﬁm(wmﬂmm ....... W Bk TR OR LR A o
RS

© A qRY0, T B. 94}, & C. 9RY¥0, S D. 9RYR, SAsT
wmmqommmmmmmmmmwa?
A R0 l 'B. %0 C R~ ;.. R W

. ﬁqm:x:m?ma ﬁmzﬁaﬁw@amﬁuﬁwmml

ECH mwwmmmmmmm.

M. SFTE |t e wd U :
A’ $I@FHAI® © B. WITAAIE  C. mtnwﬁa‘\as ' D. w3
The building comprises ...... sixty rooms. '

A. - of B B. onto
C. by - : ‘D.  no preposition needed
Namrata was found to ...... the required qualifications for the job.
A. contain B. disclose C. posses - D. acquire
Government buildings are ...... on the Republic day. - s

"~ enlightened B. lighténed C. illuminated D. glowed

Wmmﬁaw ¥is000 T FFAR Tlaa 7. cooouénﬂqmﬁavfemm@w Y5000
71 fomht R, Y A TS FRISRAT SIS i A W 2

Krishna buys an old scooter for Rs. 47000 and spends Rs. 8000 on lts repairs. If she sells the
scooter for Rs. 58000, his gain percent is: :

A 4‘—;% . B. "S%%i GG, 10% D. 12%
ST SRR T NSS! T T AR st Fremsgerg

®. GEA 1. TR

@ W EHA . FSERE

TN, g THE T ER

u SRwwefE ¥. iRt 3

A F, ERT-JEY s F-¥,T-371-9,8-3

C. FTIT-¥E-3 . D ®RT-T95-¥

mmﬁmmmmmmmwmm

e
A aﬁ@ggzw} B. wﬁwﬁ C aﬁamwshﬂ D.,fa:_gtvﬁﬂa,fa:gﬁ
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o v ferreaeTee T SreiRer HRwETS Sl fired wé SR SR -

. aeraE famRee WA 3

A ==t fammese TREH.

T fameere TUSHT YT
F-Y,T-3,7T-3,9-0 F-3,@-¥,71-3,9-9

. F-R,E-3,7-¥,5-9 H-3,7-3,T-¥, 599

9. AU S farafaee e ae Hega favafaaeas) ameae wow o |
. I fovafaememes! e 4. 0y oo weRrd

3. I9S B S T e eS| :

A. IR TFIH B. RIIAEIE C. 9339 3& D. HaA3d%
The square root of (7 + 35) (7-35) is _' o

A. <5 B. 2 C & W o35- ,
A AGAFW Y W0 T 9, BIC ORI W 3 0w T W, AR C RS Bm R

Op g s
U W xw o 0

ORI T WS T B TR IR S hT G T Wl ?

A can do a piece of work in 4 hours; B and C toget'he'r can do it in 3 hours, whiié Aand C

together can do it in 2 hours. How long will B alone take to do it? 5

A. 8hours" B. 10 hours C. . 12 hours - D. 24 hours

e STRETEdae ST e WOt T ST g e e e |

Select a suitable figure from the Answer Figures that would replace the question mark (?).
Problem Figures: A Answer Figures:

S EHRCEEEEE

(A) (B) © (€)) 2) 3) 4) 5)
A Bf2 , G 3 , D. 4
Regee! feprn B T e wreen v e '

Count the number of triangleé and squares in the given figure.

A. 36 triangles, 7 sqhares : B. 38 triangles, 9 squares
C.: 40 triangles, 7 squares D. . 42 triangles, 9 squares
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w&MWWMImmemmﬁ
A ?

A ETEE - W
B. SR @en - T
C. HE HelrR - R
D. fag-vy -  TWeN
e 3 R -

) =l A AR fae e Wa&am@m
am) ﬁmﬁmmmm ......... TTETE G Al U@ B |

A, OXY IR  B. OMSRR - C. OMJIRY D. 0.4933R®

. T B R B IS 2
A. T 9§ Wad gfeR - B. s T e fon T foza e fman
C.  foseh fafaaueom g fmman D. SFgED] AHE A At greet '

RN T T Arerh! SR ! e R e X e fee witam e |
A, TR THE TEA aE A9TeTn! HSHEH Sou HRIAICRT (M 93) H TR 81
B. qc—uﬁaaﬁwmmmmmﬁﬁymwn

C. W1 Y@ Hriehiel e a6 gio |

D. . W Y@ e TR T T S | '
mmmmmmmmv@w?

) AR T A fwen

M) BRSO g e

3) Toug sgeraE

d) o TR S, mtﬁm

A FINFAEATE B, A, FAMIZAET C. AIZHATN - D, Higswm &9

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

- we had ...... wonderful time at the party last night. )

A. sucha B. so C. such D. very

Pick out the meost effective word from the “given words to fill in the blank to make the
sentence meaningfully complete.

An empleyment advertisement should ...... the number of vacancies.
A. .provide ' B. specify C. - contain D. declare

Pick out the most effective word from the given words to fill in the blank’ to make the
sentence meaningfully complete.

When varun left the cocktail party he was as ...... asa judge. :
A: sober B. drunk C. brave D. " wise,
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Pick out the most effective word from the’given words to fill in the blank to make the
sentence meaningfully complete.

The criminal seems to have acted in ...... the three others.

A. collusion =~ - B. coalition . C. collision D. cohesion

FISHIEH T T fereeehan! Sl RIa S aR]1 & @l ol ? A

A. BIMSTEC Vision : Deeper Integration B. BIMSTEC Mission : Deeper Integration
C. BIMSTEC Vision : Intensive Integration D. BIMSTEC and South East Asia Dream
forem e : '

. aaﬁfwwmawmmaﬁmm%oxﬁ%mﬂ@an
g. FIFAaﬁmmiamaﬁwmgﬁaml%ﬁm

7. FIFA 1 AR A For the game, for the world'. B |

A. a;uamsrah B. ®INHAmIS C. e D. TA3®
mmmmmwzmmmmmmmmm _

R

A. IR, 095 B. ﬁa?ﬁ,?ov: C. Y9, D. w_gmo%a
Torga = et i, 095 Y e & Wb ol 2 :

A feufagamr . B, =L C. 9 . D. fawer

el TR TR TR Seh 94 Tt S | e TR e Wi St aoz&utuénﬁgﬁ
VRl IFEeTs -3 I FAFIa el sy g ge s ael 2

The cost of Type 1 rice is Rs. 15 per kg and Type 2 rice is Rs. 20 per kg If both Type 1 and
Type 2 are mixed in the ratio of 2 : 3, then the price per kg of the mixed variety of rice is: :

A. Rs.17.50 B. Rs.18 C. Rs.19 .D. Rs.19.50
T fox = fo w1 et & T e R :

Choose the figure which is different from the rest.

XX R XK

Y, K C) (4) )

A1 . 2 3 e i
'mmmwmmﬁmm@mmﬁmm»mmmm

1?7
A dice is rolled twice and the two positions are shown in the figure below. What is the
number of dots at the bottom face when the dice is in posmon i)?

(i)
A 1 " B. _5_ ; C. 6 -~ D.Cannot be determined
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The man Booker pnze%'l'ﬂ'-'{?ﬂ‘i‘l?m?o‘i\’ Wﬁaﬂm@mmﬁ ﬁ"l@ﬂm@

@, W TR

A. 1 R09¥- Richard Flanagan B. |09 K—Morlon james
C. . EqR09% - P.H. Newby : D. ¥q 099 - George saurden
R

®) @m@mwmma.
@) Gall bladder 1 % FIFEIETE B3l HHGAA 45 |
m mﬁmammmm@mmma.

A HIWIH 'B. TMHHI® c. @AEdw D. WIS

s wag, mvnxmﬁmmmmm ............. & < wfafem wfv e ==
................ FAR SR FH S| W
A, RE QY B. 93X, ¥& C. R L& D. 93R,4¥
Soft minded individuals are ...... to embrace all kinds superstifions.
A. disposed - B. eager C. reluctant D. prone-
A small shop that sells fashionable clothes, cosmetics, etc. is called........ :
. A Store - B. Stall - _ C. Boutigue D. Booth

ST ARSI SR SER RIS GEih! ShH THeTSal qereh! A 5 3  ?

A. FoEH-3, wifem, o3, fafe® B, gerEHi-3, geEH-R, st et
C. gaEH-3, fafed, =@fem, gaer-R D. mﬁaaﬁmwm?
Trfir= deermee T A wg o Sire fre@ ot STReRRN -

®. A9 A e fafaes q. g &

@ Ao arg da frm R SRt &

T Fure faga witem 3. Ja@ad

o e fafieE Y. Sfehfres &

A H-Y,E-3,7-], 99 B.  ®-¥,®-3,7-3 99
C. ®-3,@¥%7-R 99 D. %-9,@ 3 7-3,9-¥

fam X 1 fesus) wrT! SR fmea REuTe) - Ty SIS S ?

Choose the box that is similar to the box formed from the given sheet of paper X).

¥ 000 0

0
A. 1and4 only B. 3and4only. C. 1and2only ‘4 D. 2and3only

b}
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Group the given figures into three classes using each figure only once.

A 0 ®
ons el -
4 5 & 54
al |A
7 8 9 - ]
A, 1,79;23,6;4,5,8 B: 129:; 3,4,6 :5,7,8
ol 1,6,8;2,4,7;3,5,9 A D.<1,7.8 ;2,9,3 ;6,4,5

Q.No.:| Answer | Explanation
Key LS
1 D. . |Required difference _
= (No. of students scoring 30 and above marks in‘Chemistry)
- (Number of students scoring 30 and above marks in aggregate)
=27-21 :
_ =6
% P We have 60% of 50% = (16(?0 X 50)
. Required number
= No. of students scoring 30 and above marks in Physics
=32
3 c. Number of students getting at least 60% marks in Chemistry
' = Number of students getting 30 and above marks in Chemistry
=21. § : ;
Number of students getting at least 40% marks in aggregate
= Number of students getting 20 and above marks in aggregate
873 :
: : . (21 :
Required percentage = (ﬁ X 10,0)%
=28.77%
==29%
4 L We have 40% of 50= (% b 50) =20
.. Required number ,
= Number of students scoring less than 20 marks in aooreaoate
=100 - Number of students scoring 20 and above marks in aggregate
=160-73 =27. - :
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C -

Since 66 students get 20 and above marks in Chcmistry and out of these 21 students
get 30 and above marks, therefore to select top 35 students in Chemistry, the
qualifying marks should lie in the range 20-30.

The objects above the line are all things used by an artist. The objects below the lme
are all things used by a teacher.

If D is Male, the Answer is Nephew.

If D is Female, the answer is Niece. ;

As the sex of D is not known, hence the relation between D and A carmot be
determined.

Note: Nlece A daughter of one's brother or sister, or of one's brother-in-law or 51ster- _
in-law. Nephew - A son of one's brother or sister, or of one's brother-in-law or sister-
in-law.

oD [10.B 11D [12B [13.C '|14.i3|15.B|16,c]17:A |18.D

19

W)

20B |21c |22c [23B : ~ -

24

28 May, 2006 = (2005 years + Period from 1.1.2006 to 28.5.2006)

Odd days in 1600 years =0 A

0dd days in 400 years = 0

5 years = (4 oi-dinary yeai's +1leapyear)=(4x1+1x2) = 6o0dddays
Jan. Feb. March April May

(31+28 + 31 + 30 + 28)=148days

. 148 days = (21 weeks + 1 day) = 1 odd day.

Total number of odd days = (0 + 0+ 6 + 1) =7 =0 odd day.

Given day is Sunday'.'

25

‘| Let the required number of bottles be x.

More machines, More bottles (Direct Proportion)
More minutes, More bottles (Direct Proportion)

Machines - 61:|10
Time (in minutes) | 1 | : 4*
S~ 6%x1xx=10x4x270

(f10x4x270)
8- - ©

= x=1800.

227073 x

26

55 min. spaces are covered in 60 min.

(60 ‘ 5
60 min. spaces are covered in (E X 60) min. = 65 11 min.
. Fl i 16
Lossm64mm 6355 —64)—11mm

Loss in 24 hrs = (] 1264 % 24 x 60) min. = 32T81‘ min. -

27

g

L7

Q0

e lan 12181200133 B 1348 135C 136.A |37.B |38B

%
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39

Each number is twice the preceding one w1th 1 added or subtracted altcmatlvely
So, the next number is (2 x 261 + 1) = 523.

40

Let the cost of 1 litre milk be Re. 1

3
Milk in 1 litre mix. in 1™ can =7 litre, C.P. of 1 litre mix. in 1* can Re

' K aoh 1
| Milk in 1 litre mix. in 2™ can =7 litre, C.P. of 1 litre mix: in 2 can Re

| Milk in 1 litre of final mix. =’§‘ litre, Mean price = Re%

By th; rule of alligation, we have:

C.P. of 1 litre mixture in 1¥ can C.P. of 1 litre mixture in 2™ can

I°°|"“ Alw

. : 1
.. Ratio of two mixtures =35 : g 3 104 B

So, quantity of mixture taken from each can = (5 X 12) = 6 litres.

41

Let the number be x.

fol : N
Tnen,gofz ofx=15x-15x12=180.

So, required number = (ﬁ ¢ 180) =54

42

LetC=x.

Then, B = x + 5000 and A = x + 5000 + 4000 = x + 9000.
So, x +x + 5000 + x + 9000 = 50000 .
= 3x = 36000

= x = 12000

A:B:C=21000: 17000 : 12000 =21 : 17 : 12.

.. A's share = Rs, (35000 X 5(1)) Rs. 14,700

43.

Number of runs made by running = 110 - (3'x 4+8x6)
=110-(60) ' E ‘
=50. : '

L3

50
~. Required percentage = (m X 100)% =45 lil%

44

45.D [46D [47D [48B [49.A TSO.B151.B|52.C‘[53';A |54.8[55.B

~
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56

Here, i S={1, 2, 3;4;...,19,20}):
Let E = event of getting a multiple of 3 or 5 = {3, 6 9, 12 15, 18, 5 10, 20}.
: _nE)_9
- PE) =38y 20
5 . :
? B Speed of the train rc]gtive to man = (1120 m/sec
( 5) m/sec.
25
= (2 X ) km/hr
=45 km/hr.
Let the speed of the train be x km/hr. Then, relative speed (x-5) km/hr.
- x-5=45 = x=50km/hr.
58 A. Originally, let the number of seats for Mathematlcs, Physics and Biology be 5x, 7x and
- | 8x respectively. .
Number of increased seats are (140% of 5x), (150% of 7x) and (175% of 8x).
40 150 .
GOO X Sx) (100 X 7x) and (100 X 8x)
= 7x, 2; and 14x.
' 21
o The required ratio = 7x :—21 s 14x
= 14x:21x:28x
. =52:3:4,
59 B. (100 81) bt 4
Time = 450 x 4.5 Years = 4 years.
60 | c JelcC l62.B ]63. B 64D [65.C [66.C
67 B.* |Cost Price (C.P.) = Rs» (47000 + 8000) = Rs. 55000.
Selling Price (S.P.) = Rs. 58000. y
Gain = (S.P.) - (C.P.) = Rs.(58000 - 55000) = Rs. 3000.
A 300 ~ &3
Gain % = (—5500 X 100)% =95 ﬁ%
68 | D [e9.A [70B [71.c | :
72 B. | (7+35)(7-35)=(7)"-(35=49-45 =4 =2..
73 o ' '

A's 1 hour's work = 2

1
B+0O)s1 hourswork_3,

(A +C)'s 1 hour's work = % ;

(Le-D\: 27
(A+B+C)slhourswork (4 3) ]2
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7 Y L
lehourswork (12 2) 12

- B alone will take 12 hours to do the work.

74 A cone is introduced inside the figure The arcs in the cone- are parts of the main

figure.

75 The figure may be labelled as shown.
Tnangles :
' The simplest tnangles are BGM GHM, HAM ABM, GIN, UN, JHN, HGN IKO

{KLO, LJO, JIO, KDP, DEP, ELP, LKP, BCD and AFE i.c. 18 in number. '

The trxangles ¢omposed of two components each are ABG, BGH GHA HAB, HGI, |
GUJ, UH, JHG, JIK, IKL, KLJ, LJI, LKD, KDE, DEL and ELK i.e. 16 in number.
The triangles composed of four components each are BHI, GJK, ILD, AGJ, HIL and
JKE i.e. 6 in number. :
Total number of triangles in the figure = 18 +16 +6 = 40.
Squares : -
The squares composed of two components each are MGNH NIOJ and OKPL i.e. 3 in|
number.,
The squares composed of four components each are BGHA, GIJH IKLJ and KDEL
i.e. 4 in number.
Total number of squares in the figure =3 + 4 =7.

76 77.B 788 [798. [80D -[81A [82B [83D [s4A[85.A |86D

87 88.B : :

.89 Let the price of the mixed variety be Rs. x per kg.

| By rule of alligation, we have:

Rs.15 MEs s S e . PaaeaRai20
20-x) Bex . T 18)
QO xz 2
Cx15) T
:>60-3x=2x-30
=5x=90

Cost of 1 kg of Type 1 riceCost of 1 kg of Type 2 rice

=>x=18.
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90

In each one of the ﬁourcrs except fig. (3), the number of half- leaves is one more than
the number of line segments.

91

From figures (i) and (ii) we conclude that 3, 4, 1 and 5 dots appear a:dja(‘:ent to 2 dots.
Therefore, 6 dots must appear opposite 2 dots. Since, there are 2 dots on the top face
when the dice is in posmon (1) therefore, the number of dots at the bottom face must
be 6. :

- 92

@}

93D Joaa |9s.D  [o6.c [orcC [o8A

99

When the sheet shown in ﬁg (X) is folded to form a cube then one of the two half-
shaded faces lies opposite to one of the blank faces and the other half-shaded face lies
opposite to another blank face. The two remaining blank faces lie opposite to each
other. Thus, both the cubes shown in figures (1).and (4) can be formed when the sheet
shown in fig. (X) is folded. Also, though the cubes shown in figures (2) and (3) have
faces that can appear adjacent to each other but the cube formed by folding the sheet in
fig. (X) cannot be rotated to form either of the two. Hence, the cubes in figures (2) and
(3) cannot be formed. ' :

100

1, 7, 9 contain two similar elements one inside the other but not touching each other.
2, 3, 6 contain two similar clements one inside the other and both touching each other.

4,5, 8 are divided into equal parts by straight lines dmerging from the centre.
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Aatii Eﬁm onfor Answer Key

- | ®®O®

L 1 ®E®OD |2 A®OD® |51 | ®E®OD®|76. | ®@®OO®
2. |®®OC0D |27. ®®ODO| 2. | ®@®OD|77. |®®O®
3. (®®O00 |28 |(O®OO| 53 |®A®OD| 8. |O®OO.
4 |®®O0 [ [O®OD®| 4 |A®O® |7 [®®O®
5. |®®O®@ [30. | ®®OD®| 5 | A®O0| 8. [ A®OO®
6 |[®®OO |31 [A®OD| 5% |®@®OD| 8. |{A®O©®
17 |®B®OD® |32 |®O®OD®| 5 |O®OD| 8. | ®®O®
8. |®®O®@ |3 |[A®OD®| 8 |@®OD® |8 | ®A®O®
% |®®OD | M4 |®A®OD| 5 |®®OD| % | ®@®O®
10. | H®OD® | 35. | O@OD| 6. | A®OD |85 | A®O®
1. | A®O0 |36 (O®OD| 6. | A®OD|% | A®O® |
2. |00 |37. |®®OD| 62 |®®O0OD |8 |®@®O0O®
13. |®@®O0 |38 (AOOD |6 |[AOOD| 8 | ®@®OD |
14 [@®OC0 [» [®B®OD |« |@OOD|» |®O®O0O |
15 | ®A®OO0 | 4. (A®OD| 6. [A®OD® | % [A®O®
16. | @®OO [ 4. |O®OD| 6. | O®OOCO®| 9. [®®OD |
17. |@®OC0 | 2. [(®®OD | 6. |(A®OD| %2 |®®OCO®
B 1A®O0 |3 [@®0D]| S (0D | % [@®O0®
Y. (OO |4 (A®OD| 6. |Ae®OD®| % [A®OCD®
20. ABO® |45 (OO 70 [A®O®| % |A®OO®
21. | HB®OD [46. |O®ODO| 7. |A®OD| % |[®®O®
2. |(A®O0 [47. |O®OD®| 72. [ ®®OD| 9. |®A®O®
2. | ®@®OD | 4. | OB®OO| 73 |®®OD | 9. | A®O®
%4 OO0 |4 |000d] . |[@eoo|» |@®0®
25 50. ®@®OD®| 75 | ®®O® | 100.| ®BO®
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ﬂ l i maf‘d (Set 5)

1 e 5000 e e i Rereree S Rt ST T S SR R 2
. A, Toggn 9t "B. UsTelcS A& C. fmw=E D. mﬂaw
2. Voo v swerRR: : 4 e

|

e §. famem

T wifEq s R HmIER

. ferafien @ L wRE

W Tga A ¥, iyeesg

A, F-9, T-RT-3F-¥ B: %-3,E@-¥7-3,9-
C. &-3,8-9,7-Y,9-3 D. '

) F-3,T-3,7-9,F-¥
3. VRWH. 3 Wi Sl S T8 RS 2 '

A, 9%% B. 19¢ C. %% D. 99%-
4. TSI SR SNER TREH! TR WU STEIEE TewiTs) H & / G 2

F. o Frafia S daem SfyaeE Seege '

@. SR geUs Afaga :

7. HESH Wiefa 5§59 9 THRe w38 AU

A. FI@AFSE B. FINAEEG®  C. WITHHS® D. .8 194dw

Study the following passage and answer the given questions (5 - 9). -

Organisations are institutions in which members compete for status and -power. They compete for
resource of the organisation, for example finance to expand their own departments, for career
advancement and for power to control the activities of others. In pursuit of these aims, grouped are
formed and sectional interests emerge. As a result, policy-decisions may serve the ends of political and
career systems rather than those of the concern. In this way, the goals of the organisation may be
displaced in favour of sectional interests and individual ambition. These preoccupations sometimes
prevent the emergence of organic systems. Many of the electronic firms in the study had recently created
research and development departments employing highly qualified and well paid scientists and
technicians. Their high pay and expert knowledge were sometimes seen as a threat to the established
order of rank, power and privilege. Many senior managers had little knowledge .of technicality and -
possibilities of new developments and electronics. Some felt that close cooperation with the experts in an
organic system would reveal their ignorance and show their experience was now redundant. ' '

5. - The theme of the passage is :
' A. groupism in organizations
B. individual ambitions in organizations
C. frustration of senior managers .
D. emergence of sectional interests in organizations

N



10.

11..

12.

13.
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"Organic system" as related to the orgahization implies its
A. growth with the help of expert knowledge :
B. growth with input from science and\ technology
C. steady all around development -
D. natural and unimpeded growth
Policy decision in organization would involve
A.  cooperation at all levels in the organization
B. modernization of the organization
C. attracting highly qualified personnel
D. keeping in view the larger objectives of the organizations
The author‘makes out a case for
A. organic system
B. Research and Development in organisations
C. an understanding between senior and middle level executives
'D. arefresher course for senior managers:
The author tends to the senior managers as
A. ignorant and incompetent .
B. alittle out of step with their work environment
C. jealous of their younger colleagues
D. robbed of their rank, power and privilege . R
s STEE TR T e AgUE X B | FAREEH! SEe 1% w1 AR T W IH AR
The ratio between the perimeter and the breadth of a rectangle is 5 : 1. If the area of the
rectangle is 216 sq. cm, what is the length of the rectangle? ‘ :
A. 16cm B. 18cm « Gy 2 24 e D. Data inadequate
94 5 R B TIE) SR SR % T S ime Fm wam v S B I AR A
S SR i B i e Rt dira SR U foe Sl SRR WA T ARSI W
forran sl iR 1 v 2 _ -
The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3 years

older. If the ages of these two are excluded, the average age of the remaining players is one
year less than the average age of the whole team. What is the average age of the team?

A. 23 years ~ B. 24years - C. 25years - D. None of these

T TR T T S | B frea g0 6 W vo fe T TS, T qeea I
T ¥ U TN TS W SR T IR TRt Mieh] ST i S 2

A boat running upstream takes 8 hours 48 minutes to cover a certain distance, while it takes
4 hours to cover the same distance running downstream. What is the ratio between the speed
of the boat and speed of the water current respectively? - . .

A -2:1 B. -3:2 C. 8:3 D.Cannot be determined
O FARRG MB AR 2

What was the day of the week on 17" June, 19982 .

A. Monday B. Tuesday 1 C. Wednesday . D. Thursday
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¢ S e T L mwﬁrmf@m:

%, HSUE Tegd i ks fE=x F. W
T ARwEAE i ki s st
M. ARETEFRAE il &R X 3. HIH T e ,
A F-ii-3 B. @-i-3’ C. F-ii-d D. T-i-3
A. F-iii-3 B. @-i-a C. -ii-&  D. T-iii-3

ﬁmm:aﬂmwmmmﬁmﬁﬁmmtmmmm

. sﬁagfr'_ 9. 49 yfgeE

W dME -~ R o R |

T AR 3. 3 yfave

. dER Y. eyfwea

CA H-Y, @R, T, WY B. ®-R, @9, 7-¥, u-3

C. &-¥,@-9,7-R, ¥-3 - D. ‘-9, @Y, T3, ¥

AT TR G oo™ /RS 2 g

A ufge- B. HHdAR T g D. fagem
T SERTOMT, 085 aamtaa mm@ma? $
A, OETE g -_¥ %9 Hfawa

B. Tfor sHEEn . —5RR3 yfawa

C. TR ®F ¥ T UfEr. - 2¥.53 v

D. wfeen TRERger @H AR - ¥ eauﬁm

Boipol ¥R S & ? ,

A, THITE e gfee W e nﬁ@ gfey

B. g% W ARl VAT SRR TR

C. R REeR I+ afve fosris g wfes -

D. uiRfeerfas omet Srgeret ST SToARTH Qe gfafy

From the given. alternatives, choose the one which best expresses the glven sentence in
Indirect speech.

"If you don't keep qmet I shail shoot you'', he said to her in a calm voice.
A. He warned her to shoot if she didn't keep quiet calmly.

B. He said‘cah'nly that I shall shoot you if you don't be quiet.

C. He warned her calmly that he would shoot her if she didn't keep quiet.
D. Calmly he warned her that be quiet or else he will have to shoot her.

_Pick out the best one which can complete incomplete stem correctly and meaningfuliy

The weather outside was extremely pleasant and hence we decnded 10 ....cv
utilise our time in watching the television
 refrain from going out for a mormng walk
enjoy a morning ride in the open
employ this rare opportunity for writing letters
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23.

25.

26.

27.

29.

© 7 30.

31

0P o Ad 8-

iz

Fate smiles ...... those who untiringly grapple with stark realities of life. ~ .*

A. with B. over’ C. on - D. ‘round
One who eats human flesh is called et ~
A. Vegetarian - B. cannibal ©  C. popular, :  D. [Illiterate
TSI W AT 1 VIS A A ® 2 _ - -
A gmft - B. ¥di C. e D. 9wl

aamqmﬁsmm Mmzmmmmmmmmm

Tt weero &5 - © 9. 9R0%
3fiq AT TREo & TR RO ,
AT TR & 3. 9ER ' ,
oS TR & Y. 9] ’
r?—x‘@r -97-39-} Y B, %9, @Y, T3, ¥R
FH-¥, @-3, 19, ¥R D. K—ﬁﬁi,’l?'@—
World Agroforetry center ﬁWWWMa ?
A, SAW B. et Cc. = - D. @
T faeh fe@ Zoological name B & ? : ‘
A. Rhinoceros unicornis T B. -Rhinoceros d siaris
C. Rhinoceros onehurnis = - . . D.  Rhinoceros indianis
wmmﬁm}h 0%Y mmmmmmva/
R §'-‘[") X
%. mﬁ?ﬁmmmﬁm |- mﬂmﬂmﬁm
T wnaﬁmmammmqga coow ogfre B
. A ®I@WE B, ®ETAA Cc. WIYHE ~ ~ D. wiumEs

wE SR 140 A Aifraend ¥¥ e g w8, o e mwmtz Y I WS B
mqﬁmﬂuﬂm&mmmw7 '

A fort had provision “of food for 150 men for 45 days. After 10 days, 25 men left the fort. The
number of days for which the remnmmg food will last, is:

A. 295 B. 374 ' C. 42 D. 54

° zcmmmmgmwmmw WSR2
At what time between 7 and 8 o'clock ‘will the hands of a clock be in the same straight line

* but, not together?

: 2 -t
A. 5min. past7 B. 'Sﬁmin. past7 C. S’ﬁ'min. past7 D. 5‘1—1 mir;.-past?

The bahker's discount on a bill due 4 months hence at 15% is Rs. 420. The tfue discount is:
A. Rs. 400 ) © B. Rs. 360 . C. : Rs. 480 . "D. Rs. 320
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: B. 40 ¢ 8 A p. 23
m?;‘qrﬂﬁuﬁxﬁt.uwmﬁ mﬁmﬁaﬁﬂﬁﬁm?wﬁﬁa
QeUTE ? o

In what ratio must 2 grocer mix two varieties of pulses costing I}s 15 and Rs. 20 per kg
respectively sO astogeta mixture worth Rs. 16.50 kg? : :

A 311 B. 5:7 C a3 E D. 5758
faﬁﬁmmtmﬂmamaamaﬁmwﬁm .

e : <o A
q WWWW 5. Tad.R0%
? mam@r@mﬁm @ fad R
3 TererE IRES q.  fasRo¥¥
¥ GEIRI N g fad.0R
A -SRI 3-@, ¥ B. %% 3-%, 311
C 9—sh, - 3—’@,‘&-—7! D. -€ -9, 37, % =
Wmﬁﬁmaﬁ@mmmwmm, 093
mﬂ@mﬂ@lﬁi\/m? ‘
A geormeh! T B, e weE T O &N TR T

mmﬁmmmma—cﬁﬂﬁm p, W

WWQ@@WWW“@W
A, TR B =5 TR c. I IR D &a TR

A AIRTEA B, RIIT ] c. 1T p. 9,303
Aot o S e e o G S e o Tl
A. 200 AF %, 3093 I 1% B. RO\BQW 29, 093 T 9%

ok ?O\SQW‘\‘{,’-(O\‘RW‘W . p. 0T 2, 2093 T V¥

pick out the most effective word from the given words to fill in ‘the blank to make the
sentence meaningfu“y complete. :

The miser gazed . at the pile of gold coins in front of him- . ‘

A, avidly B. admiringly C. thoughtfully - D earnestly

Walking at 30 clock, I heard the ... of thunder. :

—~

A. crackle . rumble C. ripb\e D. . clank



4L

42,
D. colossa]
43, ?
A WU B %eRw e C. SR foreey - D. et
44, Wﬁm&rmwm? : o |
A. Management of the Circle B. On Balance op Livers
: C Spirals . D. Little Balance
4s. mmmwwm WES fer 5
% ST T Wmmmmﬁmm TR forg |
. fayg aao«amwmm@n&zﬁmmwm e
A 139,33 p WA o 1R\ M 13 38 ¥er
46. ﬁﬁm%mzﬁaﬁ%ﬂﬁmm%ﬂaﬁmmq: ‘ : 2 T
s T gy
& Arboricultyre : N 9. mﬁmw@%
g. Crirm'nology ’ R. EUIW%# STREr
7. Embryo]ogy ‘ 3 mﬂm:zﬁﬁamﬁm
. Sericultyre : Y. WQ?WMW
A T my L ey K ok S E P

C =3 G-¥, 713 g D. w3 G-Y, -9, -3

T ey T Wiftraey T I fﬁﬁq | Study the following Jipe graph anq answer the

Questions hageg on it, ~
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